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Seven questions may be answered.

Mathematioal Tables may be obtained from the Superintendeni

1. Prove that z—2is a factor of 3a%4-a*—34x+-40. Find thb_j__
factors and hence solve the equations '

(i) 32°+@*—34w+40=0
(1) B—d)P+ (e—4)2—34(r—4)+40=0.

|28 ma _

9. Find & number of three digits such that the product ¢
hundreds’ digit and the units’ digit is four times the tens'd
such that the number obtained by interchanging the hundieds™
and the units’ digit exceeds the original number by 495, WAl
number obtained by interchanging the hundeeds’ digit and thels
digit exceeds the original number by 270. '

[28 marks

3. Solve the equations

(i) z*+xy+y“=19}
2—ay+yt= T

(i) 34/z+9 — 24/20—10 = A/ 9z-+1. A

28 mirk

4. Three motor-caxs, A, B, ¢, left Dublin at 1 pm, 130
and 2 p.m. respectively, travelling in the same direction 8
came road. B's speed exceeded A’s by 5 miles per hour and
sxceeded B’s by 6 miles per hour. When B overtook A, C W&
miles behind both : find when C overtook A and B.

45




2

the equation la*+ma+n=>0. Deduce that

m n
[ {j': _.T’ uﬁ=}-.

p are the roots.

equation whose roots are

oa-+1 B+1.
o—1 e g—1.

[28 marks.]

ess the square root of 24-4/3 in the form 4/a+4/5,
and b are rational numbers.

[28 marks.]
many of the numbers

_ o 3, 46, T 998, 999, 1000
jot divisible by 7 ?

‘the sum of all the positive integers less than 1000 which ace
gible by 7.
20 marks.]

(= #8) is an acute angle and P is a point on OA such that
. From P a perpendicular PP, is drawn to OB ; from P, a
licular P,P, is drawn to OA; from P, a perpendicular P,P,
n to OB ; and so on. Prove that PP, P,P,, P,P;, P;P,, etc.,
metrical Progression and calculate the length of P,P, when

29 marks.]
g squared-paper and the same axes and scales draw the
y=3x'—bz—4 and y=T—2z,

your graphs, or otherwise, determine approximately for
s of values of  the expression 32*—5x—4 is less than 7—2a,

[29 marks.]
Prove that

318 —3abe—=§(a+b-+c) [(6—6)’+ (c—a)+ (amb)’] ;
e show that
L aBbi -3 —Babe=(2’+yP 23 —3wyz)?
when a=a*—yz

b=yt—zz »
e=t—zy | [29 marks.]



